COMPONENT 3 EXAM

This set task is out of 60 marks
and will task 2 hours.

There are 18 questions giving

you 2 minutes per mark.
Question 16 and 17 have an s
a)andb) ||




Exam question focus

The positive or negative effects of The impact on physical, Interpretation of physiological
factors on health and wellbeing intellectual, emotional and social data according to published
(Ql -7, sometimes Q8 also) health and wellbeing of different  guidelines (Q11)

types of life event

(Q7- 10)
Focused on the potential How lifestyle choices determine  Pearson centred approach to
significance of abnormal readings of physical health (Q13) improving health and wellbeing
physiological indicators in terms of (Q14)

short term or long-term risks (Q12)
How a person’s circumstances could Recommendations and actions Support available when

affect their ability to follow that are aimed at improving following recommendations
recommendations for improving health and wellbeing (Ql16a) [informal / formal) (Q16b)
health (Q15)

Barriers and obstacles to following  How a person's circumstances

recommendations (Q17a & 17b) could affect an area of their PIES
|mdum‘lm
Mife stage (Q18) :




Component 3 content

Questions 1 - 8/9

* These questions will focus on the positive or negative
factors, that effect health and wellbeing.

Explain two positive effects that having supportive relationships with friends could
have on health and wellbeing.

Any From:
Physical factors

. . . . . Lifestyle factors
. 2 questions will be multiple choice tick boxes,  soual factors

identifying one or two factors. Cultural factors

Economic factors
Environmental
factors

1 {hdentify one lifestyle factor that can affect health and wellbeing.

0 A Employment situation Example {:f_a
multiple-choice #%f‘
K B Substance misuse v .

question any \( \ I\ .
£ € Sodalindusion = X x/\* ‘ \ 32 (|
£ D Gender roles 1

(Total for Question 1 = 1 mark)

Get this right when asked to explain:
g sodronménts! fackors that can affect health and weilbeing. These questions are usually worth 2 or 4 marks
1 A Physical abiliny *  Marks are aways awarded in pairs — 1 mark for correctly identifying a point
B 8 Housing needs and 1 additional mark for an appropriate expansion
sz Example of a +  Make a point e.g. an effect
B € Gender rokes multiple-response . g, specific about it, use the right key term for it
O D Airpollution question *  Expand each point to a full explanation e.g. how that effect impacts health
0 B Wkt and wellbeing



Question 11

« This will be a state question of one of the
physiological indicators.

11 @ the correct classification for a blood pressure of 120/68 mmJ/Hag.
Ideal / normal blood pressure +*

[Total for Question 11 = 1 mark)

This could also = ﬁ.
be: EXAN OLD
e O — = ,-"'lr N |
Heart rate Get this right when asked to identify / state / give:
= |dentify or state questions can be answered briefly by either ticking the box if
I it is a multiple choice/response question or with short answers if there is
RQStI n g space to write
* Read the question carefully and give what is specifically required = if it asks
h €a rtbeat for a physical factor, emotional or social will not be credited (even if they 5
accurate)

= Check your answer matches the context and be precise



Question 12

 This question relates to a potentially abnormal
physiological indicator, you will need to
Explain how that indicator could impact

current physical health. This is worth 4 marks
in total.

The practice nurse at the GP surgery informs Elizabeth that she has high |
PTES L

'Iihm potential long-term risks of Elizabeth'’s blood peessune on her ghysical

. She is at risk of having a heart attack as the heart is working
harder to pump blood around the body and could be strained

; She could have a stroke because the high blood pressure can cause/
blood clots in the brain and damage the blood vessels.




Question 13
 This could be linked to question 12.
 An Explain question, about lifestyle choices.

Question 14

 This Is another multiple-choice tick box
wanting you to identify why a person-centred
approach is important to improve health and
wellbeing.

18 Udentifgone individual circumstance that the person-centred approach
should consider.

£
=
L]
£

Ability
Hair colowr

Height

o n @ @

Shoe size

i Total for Question 14 = 1 mark)



Question 15

Using the information provided, discuss the
circumstances of an individual. Remember to

annotate.

The RUrsE weants to provide Elizebeth with some Ir'lfl:trrhlﬂnﬂ and H.rppn-rﬂu |n'||:|r|:|'.r-r

et health and -.-.rellbemg Elizabeth has a dema e job ha: PEGLIes § K
0 & and i uding to emieng Ell:ﬂ-tmhl:- akd Shu:-llm“ﬂhnne
nlh!r.ldul‘t

The practice nurte Jeggests that Elizabeth eats a healthy diet every day,

1|:|'.'l.| Elizabethi circumitances could affect her ability to eat & healthy diet,

Works leng hours

: Lives with
Stressful job
MIN| CHECKLIST: Has a well-paid uljob  onother person
Liba stage Job Relies on snacks
Factors affecting health % and take aways

Sources of support o ML 1 L L1 L.

Get this right when asked to discuss:
Aim to make a minimum of four good points

* Be specific, link appropriately to the case study scenario

* Expand each point to a full explanation

* Consider alternative perspectives e.g. positives and negatives

* Create a logical and linked discussion, showing how your points
interrelate




Question 16a

This is the question where you need to fill in the table.
Stating 3 actions and how these actions could improve

health and wellbeing.

| I — Ways thee a Uiosns ¢ orulbd irspenorve Sorsian
1
o Frralth arml weellleeswg

' To reduce To reduce the
alcohol risk of alcohol-
consumption related cancers

v’ v

° Toincrease To reduce the
physical risk of weight
activity gain/obesity

o v
' Toget To reduce the
essional risk of
support to cardiovascular 6

monitor her disease
\ blood pressure v v




Question 16b

This question asks you to Explain types of support,
it could be formal or informal.

Sonia has a follow-up appointment with the doctor.

= She s given the details of a suppornt group for helping reduce alcohol
consumption

= She is given the contact details of the chanty the British Heart Foundation

(b 1& ways formal support could improve the health and wellbeing of
L] M

, Can provide information and advice so she can make

informed healthy lifestyle choices e.g. healthy eating.
v

, Can monitor her blood Ffr’essure so she knows whether
her lifestyle changes are working.




Question 17a

This question is asking you about barriers, you
need to explain two from the case study.

Reem lives on the outskirts of a large city. She has recently moved to the UK and has
limited English. Reem has a vision impairment. She cannot drive but there is a bus
and tram network in the city. Reem wants to join a healthy living group in the city

centre,
17 {a barriers that could prevent Reem from improving her health
antWellbeing.
(4}

; Because she has a sensory disability, she may have difficulty
reading information due to her vision impairment. This could
make it difficult to receive written information on healthy
eating.

2 Re.em sPeaks Engllsh as an additional language so she may

* nd others which could make it difficult to

Physical _ Financial ple are saying when giving her health
Social, cultural, TP p—
language available fo get fo a

service or payfor
medicafion

Geographical

Mo bus route and long
distance from a
service, rural locafion.

-




Question 17b

This question is asking you about the obstacles faced by

an individual.

Dustin lives in a supported living flat, but he does not trust his support worker. His
family do not live nearby and he struggles with friendships. Dustin dislikes new

people and new places.

Dustin's support worker wants him to go to the leisure centre three times per week

on his own, to improve his health and wellbeing.

(b) Explain two obstacles that could prevent Dustin from improving his health

and wellbeing.

Dustin has emotional/psychological confidence issues and lack of trust and therefore feels insecure

(4)

and afraid to go to the leisure centre. He will feel isolated and misunderstood, withdrawing further.

. Dustin has been set an Llnachieuahle target, 3 times a week when he lacks confidence and dizlikes
new people and places, this will put him off f/demotivate him and therefore not go to leisure centre.

Lack of support, no family nearby, struggles with friendship and doesn’t trust support worker

fime, very busy with

work or family

Lack of Support

Isolated and maybe
embamassed, don't

want to ask anyone

 therefore no one to go with him, to share worries and be reassured, to help with communication

(SRR A IR ]

Psychological

Unachievable
targets

Availability of
resources

No spare money o
buy or not living near

to suvitable area.




Question 18 - PEE (Point, example, explain)

This is a Discuss question, looking at the circumstances of an
individual based on the case study. Make sure you have
clearly identified which of the PIES it is wanting you to discuss.

Case study

Loretta is 52 years old. She has been happily married for 32 years. Loretta has a job
she enjoys.

Loretta has started experiencing symptoms such as hot flushes at night, tiredness
and hair loss.

Loretta’s daughter is getting married and will move out of the family home,

ianw Loretta’s circumstances may affect her emotional development in
middle adulthood.

Loretta is in middle adulthood and in a good place in her life. Her long-term
relationship with her partner means she feels loved and secure. She will have
high self-esteem because she is in a loving relationship but also because she
has a job that she enjoys. She may have good job satisfaction and she might
feel like she is contributing to society if she does a job like a teacher or
doctor making her feel good about herself. She will also be excited for the
wedding and happy for her daughter.

However, there are negatives for Loretta because she might feel a bit sad or
depressed as her daughter is leaving home. Also because of her life stage she |
may be going through the menopause and experience emotional effects such as |
anxiety and this could make her less confident work or at the wedding |
especially as she is losing some of her hair and might be getting wrinkles.




Term

Definition

Comprehensive The waork is well developed and thorough, covering all
pertinent aspectsfinformation to evidence understanding
in terms of both breadth and depth. All elements are
considered in equal depth and breadth.

Confident/ce Exhibit certainty, having command over information/
argument, etc. Demonstrate secure application of skills or
processes.

Consider/ Review and respond to given information.

Consideration

Considered Reached after, or carried out with, careful thought.

Consistency Steps in a process followed repeatedly and as intended.

Creative Using techinigues, equipment and processes to express ideas
or feelings in new ways.

Demonstrate Carry out and apply knowledge, understanding and/or skills
in a practical situation.

Describe/Description | 5et out characteristics. Provide clear information that
includes the relevant features, elements or facts.

Detailed Point-by-point consideration of relevant and accurate
features, elements and/or facts supported by examples,
showing attention to particulars beyond a simple response.

Developed Consider and expand on all relevant points in detail.

Dexterity/Dextrous Perform a difficult action quickly and skilfully with the hands
or the ability to think guickly and effectively.

Effective Applies relevant knowledge and understanding and/for skills
appropriately to a task and achieves the desired outcome;
successful in producing a desired or intended result.

Excellent Consistently high standard of skill in completing a practical
task.

Extensive Large in range or scope.

Few A small number or amount, not many but more tham one.

Fully Completely or entirely; to the fullest extent.

Generally Appropriate in most cases, with a few exceptions.

Generic Characteristic of or relating to a class or group of things;
not specific.

Good The work gives information and careful consideration about
miany'several elements of the context, usually point by point,
and lines of reasoning are clear, valid, relevant and logical.

Identifyfing/ MName or otherwise characterize the main features or

Identification purpose of something.
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O o oo

Answer ALL questions. Write your answers in the spaces provided.

Some questions must be answered with a cross in a box X. If you change your mind about an
answer, put a line through the box £¢ and then mark your new answer with a cross [X.

1 Identify one environmental factor that can affect health and wellbeing.

Gender expectations
Exposure to pollution

Inherited conditions

o N w >

Relationship changes

(Total for Question 1 = 1 mark)

2 State two positive effects that a balanced diet can have on health and wellbeing.

(Total for Question 2 = 2 marks)

3 State one lifestyle factor, other than nutrition, that can affect health and wellbeing.

(Total for Question 3 = 1 mark)

P 8 61 6 8 R A 0 2 1 2
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DO NOTWRITEIN THIS AREA DO NOTWRITE INTHIS AREA

DO NOT WRITE INTHIS AREA

4 |dentify two cultural factors that can affect health and wellbeing.
[J A Sexual orientation
[J B Physical abilities

Supportive relationships

(0 O O

C
D Gender identity
E Employment situation

(Total for Question 4 = 2 marks)

5 Explain one negative effect of unsafe housing on an individual’s health
and wellbeing.

(Total for Question 5 = 2 marks)

6 Explain two positive effects that community participation can have on health
and wellbeing.

(Total for Question 6 = 4 marks)

NN O S 3
P 8 61 6 8 R A 0 3 1 2 Turn over



7 Give one negative effect that redundancy can have on the emotional health of
an individual.

(Total for Question 7 = 1 mark)

8 Explain two positive effects that inheriting a large sum of money could have on an
individual’s health and wellbeing.

(Total for Question 8 = 4 marks)

9 State one negative emotional effect of parenthood on an individual.

(Total for Question 9 = 1 mark)

P 8 6 1 6 8 R A 0 4 1 2

Y3adY SIHLNEILIHM 1ON Od V3HY SIHLENEILIHM 1ON Od

Y3HY SIHL NI ILIEM 1ON Od



DO NOTWRITE INTHIS AREA

DO NOTWRITEIN THIS AREA

HIS AREA

DO NOTWRITEINT

10 Explain two effects that being excluded from school could have on the social
wellbeing of an individual.

(Total for Question 10 = 4 marks)

11 State the correct classification for a blood pressure of 150/98mmHg.

(Total for Question 11 = 1 mark)

The nurse has advised Jan that he has an obese body mass index (BMI).

12 Explain two ways that obesity could be a risk to Jan's future physical health.

(Total for Question 12 = 4 marks)

NN OO 5
P 8 61 6 8 R A 0 5 1 2 Turn over



Jan enjoys large meals and regularly eats at restaurants. He always drinks a pint of
beer with his fish and chips.

13 Explain how Jan’s diet could cause an increase in his body mass index (BMI).

(Total for Question 13 = 2 marks)

14 Identify one wish that an individual may have that the person-centred approach
should consider.

[J A Having alack of support

[J B Being addicted to substances
[J € The age of the person

[ D Prefers vegetarian food

(Total for Question 14 = 1 mark)

P 8 61 6 8 R A 0 6 1 2
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DONOTWRITE IN THIS AREA DO NOTWRITE INTHIS AREA

DO NOT WRITE INTHIS AREA

Jan is 52 years old and lives with his husband. His elderly mother lives in their
converted garage flat and receives care and support with her daily needs from Jan.
Jan was recently made redundant and is looking for work.

The nurse would like Jan to give up smoking. Jan first started smoking as a teenager.
His mother and husband both smoke.

15 Discuss how Jan’s circumstances could affect his ability to give up smoking.

(Total for Question 15 = 6 marks)

NN OO 7
P 8 61 6 8 R A 0o 7 1 2 Turn over



Branca is overweight. She has a desk job in a call centre and so she sits down all day.
Branca describes her diet as unhealthy and she drinks 16 units of alcohol per week.

Branca had a health check at work and was advised to improve her health.

16 (a) Complete Table 1 by:

(i) stating three actions that will improve Branca’s health and wellbeing
(3)

(i) giving three ways these actions could improve Branca’s health and wellbeing.
(3)

Three actions Ways the actions could improve Branca’s health
and wellbeing

OIS
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DO NOTWRITE INTHIS AREA
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 DONOTWRITEINTHISAREA

DO NOTWRITE INTHIS AREA

Branca feels like she is stuck in a negative cycle of bad habits.

She lives with three other young people in a house share and they all get on well.
There is a community centre close to Branca’s home and a gym at work. Branca'’s
family are supportive.

(b) Explain two ways informal support could improve the health and wellbeing
of Branca.

(Total for Question 16 = 10 marks)

J

NN 9
P 8 61 6 8 R A 0 9 1 2 Turn over
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Ajit was born in northern India but now lives in central London. His religious beliefs
mean that he follows a strict lifestyle, not consuming or using any animal products.

Ajit has a medical condition that reduces his physical mobility. He requires
medication for his condition and last year he was referred to the hospital for surgery.
The local NHS Trust is very busy and has reported staff shortages.

17 (a) Explain two barriers that could prevent Ajit from improving his health
and wellbeing.

P 8 6 1 6 8 R A 0 1 0 1 2

Y3adY SIHLNEILIHM 1ON Od V3HY SIHLENEILIHM 1ON Od
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DO NOTWRITEIN THIS AREA DO NOTWRITE INTHIS AREA

DO NOT WRITE INTHIS AREA

Ajit works long hours as an accountant and often feels stressed by his work. He lives
alone, has no family nearby, and has not had time to build up a network of friends.

Ajit needs to complete twice weekly physiotherapy to improve his mobility. The
physiotherapy has been scheduled for 11am on Mondays and Wednesdays.

(b) Explain two obstacles that could prevent Ajit from improving his health
and wellbeing.

(Total for Question 17 = 8 marks)

NN T ,
P 8 6 1 6 8 R A o0 1 1 1 2 Turn over



Lissy is 33 years old and lives with her husband, Jerome, who is 35 years old.

Lissy has sickle cell disease. She receives regular care and treatment from a specialist
team at the hospital because it causes her chronic pain and tiredness.

Lissy has just found out she is pregnant. Both Lissy and Jerome are very excited about
becoming parents.

18 Discuss how Lissy’s circumstances may affect her physical development in
early adulthood.

(Total for Question 18 = 6 marks)

TOTAL FOR PAPER = 60 MARKS

P 8 6 1 6 8 R A o0 1 2 1 2
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Component 3: Health & Wellbeing
General marking guidance

e All learners must receive the same treatment. Examiners must mark the first
learner in exactly the same way as they mark the last.

Mark grids should be applied positively. Learners must be rewarded for what
they have shown they can do rather than be penalised for omissions.

Examiners should mark according to the mark grid, not according to their
perception of where the grade boundaries may lie.

All marks on the mark grid should be used appropriately.

All the marks on the mark grid are designed to be awarded. Examiners should
always award full marks if deserved. Examiners should also be prepared to
award zero marks if the learner’s response is not rewardable according to the
mark grid.

Where judgement is required, a mark grid will provide the principles by which
marks will be awarded.

e When examiners are in doubt regarding the application of the mark grid to a
learner’s response, a senior examiner should be consulted.

Points-Based Mark Scheme Guidance
Points-based mark schemes are made up of:
1. Mark scheme rubric: A mark scheme rubric instructs an examiner as to how

each mark is awarded.

2. Example responses: These demonstrate the type of acceptable responses that a
learner might provide and where each mark is awarded.

3. Additional marking guidance: This informs examiners about any parameters
which should be applied, for example ‘accept any other appropriate/alternative
responses’.

Applying the points-based mark scheme guidance

Examiners should follow the mark scheme rubric and use the example responses as

a guide for the relevance and expectation of the responses. Learners must be credited
for any appropriate response. Should learners provide answers that meet the rubric
but in an alternative order, credit should be given.

Levels-Based Mark Scheme Guidance
Levels-based mark schemes (LBMS) have been designed to assess learners’ work
holistically. They consist of two parts:

1. Indicative content:

Indicative content reflects content-related points that a learner might make
but is not an exhaustive list. Nor is it a model answer. Learners may make

Owner: VQ Assessment Page 3 of 20 Version 1.0
Issue 1
DCL1
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some or none of the points included in the indicative content as its purpose is
as a guide for the relevance and expectation of the responses. Learners must
be credited for any appropriate response.

Levels-based descriptors:

Each level is made up of a number of traits which when combined together
articulate the quality of response that a learner needs to demonstrate. The
traits progress across the levels to demonstrate the different expectations of
each level. When using a levels-based mark scheme, the ‘best fit" approach
should be used.

Applying the levels-based descriptors
Examiners should take a ‘best fit’ approach to determining the mark.

Examiners should first make a holistic judgement on which level most closely

matches the learner’s response. Learners will be placed in the level that best

describes their answer. Answers can display characteristics from more than one

level, and where this happens markers must use any additional guidance (for

example weighting of traits) and their professional judgement to decide which

level is most appropriate.

The mark awarded within the level will be decided based on the quality of the

answer and will be modified according to how securely all traits are displayed

at that level:

o marks will be awarded at the top of that level if the learner has evidenced
each of the descriptor traits securely.

o where the response does not securely meet all traits, the marks should be
awarded based on how closely the descriptor has been met.

Owner: VQ Assessment Page 4 of 20 Version 1.0

Issue 1
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Question
Number

Answer

Mark

1

Award one mark for the correct response.
B - Exposure to pollution (1)

A js not correct because 'gender expectations’ is a cultural
factor

C is not correct because 'inherited conditions’ is a physical
factor

D is not correct because 'relationship changes’ is a life
event

1

Question
Number

Answer

Mark

2

Award up to two marks for two positive effects of
balanced diet on health and wellbeing.

e Will maintain/help achieve a healthy weight/body
mass index (BMI) (1)

e Will reduce risk of disease (1)

e Wil strengthen immune system (1)

e Will have enough energy (1)

e Will be able to concentrate/focus/learn (1)

e Will have positive self-image/body image (1)

e Will have positive self-esteem/confidence (1)

e Improved mood/mental health/happiness (1)

Accept up to two examples of specific/named diseases of
relevance.

Do not accept references to *fit’ and *healthy’ as this is not
specific enough.

Effects can be physical, intellectual, emotional or social
and both answers can come from the same category.

Accept any other appropriate response.

Question
Number

Answer

Mark

3

Award one mark for any of the following lifestyle factors:

e Physical activity/exercise (1)

e Smoking/tobacco (1)

e Alcohol (1)

e Substance/drug use/misuse (1)

Accept specific examples of drugs.

Accept any other appropriate response.

Owner: VQ Assessment Page 5 of 20
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Question
Number

Answer

Mark

4

Award one mark for each correct response up to a
maximum of two marks.

A - Sexual orientation (1)
D - Gender identity (1)

B is not correct because ‘physical abilities’ is a physical
factor

C is not correct because 'supportive relationships’is a
social factor

E is not correct because ‘employment situation’ is an
economic factor

Question
Number

Answer

Mark

5

Award one mark for giving a negative effect of unsafe
housing and a further one mark for a linked expansion of
how it can negatively affect health and wellbeing, up to a
maximum of two marks.

e Anxiety/stress/fear (1) if the house is not
secure/the neighbourhood is dangerous (1)

e Injuries/accidents (1) due to the house being
dangerous/poorly maintained (1)

e Poor hygiene/infections (1) if the house is
unsanitary/lack of hot water/poorly cleaned or
maintained bathroom (1)

e Disease/breathing problems/weaker immune
system (1) if mould is present (1)

e Abuse/neglect (1) if there is conflict within the
home (1)

e Lack of sleep (1) due to worry about the safety of
the home (1)

e Social isolation/exclusion (1) because embarrassed
to invite people over/scared to go out (1)

Effects can be physical, intellectual, emotional or social.
Expansions may be interchangeable.
Effects/expansions may be interchangeable.

Accept any other appropriate response.

Owner: VQ Assessment Page 6 of 20
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Question | Answer Mark
Number
6 Award one mark for giving a positive effect of 4
community participation and a further one mark for a
linked expansion, up to a maximum of four marks.
e Increased physical activity (1) because community
participation is often outdoors (1)
e Learning new skills (1) as they work with others to
solve local problems (1)
e Happiness/improved mood (1) because they are
meeting new people/feel wanted (1)
e Sense of belonging/inclusion (1) because they
meet/work together with neighbours/have a role in
the community (1)
e Contentment/increased self-concept/pride (1)
because they are doing something
worthwhile/helping others (1)
e Increased social opportunities (1) as they build new
relationships with local people (1)
e Increased support (1) as they have others to share
concerns with (1)
Effects can be physical, intellectual, emotional or social and
both answers can come from the same category.
Expansions may be interchangeable. Can only be awarded
once if appropriate.
Effects/expansions may be interchangeable.
Accept any other appropriate response.
Question | Answer Mark
Number
7 Award one mark for giving a negative effect of 1
redundancy on emotional health.
e Negative self-image (1)
e Reduced self-esteem (1)
e Reduced confidence/security (1)
e Guilt/shame/embarrassment (1)
e Anger (1)
e Worry/anxiety/fear/stress (1)
e Low mood/poor mental health (1)
Allow specific examples.
Accept any other appropriate response.
Owner: VQ Assessment Page 7 of 20 Version 1.0
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Question | Answer Mark
Number
8 Award one mark for a positive effect of inheriting a 4
large sum of money on health and wellbeing and a
further one mark for a linked expansion, up to a maximum
of four marks.

e Healthier diet (1) as they will be able to afford the
most nutritious foods (1)

e Improved access to physical activity/exercise (1)
because they will be able to purchase a gym
membership/equipment (1)

¢ Feeling happy/content with life (1) as they will be
able to afford to buy luxuries/material goods (1)

e More opportunities to socialise with friends (1) as
they will have disposable income to spend (1)

e Reduced stress (1) as they will no longer have
financial worries (1)

e Improved self-concept (1) as they can make a
financial plan for their future/family (1)

e Improved access to healthcare (1) as could pay for
private care/insurance/medications (1)

Effects can be physical, intellectual, emotional or social and
both answers can come from the same category.
Expansions may be interchangeable but can only be
awarded once if appropriate.
Accept any other appropriate response.
Question | Answer Mark
Number
9 Award one mark for giving a negative emotional effect of 1
parenthood.

e Regret/remorse/nostalgia (1)

e Sadness/low mood/postnatal depression (1)

e Anxiety/fear/worry/stress (1)

e Low self-concept/self-doubt (1)

Accept any other appropriate response.
Owner: VQ Assessment Page 8 of 20 Version 1.0
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Question
Number

Answer

Mark

10

Award one mark for an effect of exclusion from school
on social wellbeing and a further one mark for a linked
expansion, up to a maximum of four marks.

Reduced social interactions (1) because they may

not know about social events that are happening (1)

Exclusion from social occasions (1) because of
stigma/friends not knowing if they should invite
them (1)

May lose friends (1) because their friends may be
embarrassed/fearful (1)

Isolation (1) due to feeling embarrassed/let
down/angry (1)

Loss of supportive relationships (1) because they
longer see school staff (1)

Lonely (1) won't be spending time with friends at
school (1)

Could make new friends (1) because they may
connect with others in the same situation (1)

Effects can be positive or negative.

Expansions may be interchangeable but can only be
awarded once if appropriate.

Accept any other appropriate response.

Question
Number

Answer

Mark

11

Award one mark for the correct response.

High/high blood pressure/high BP/abnormally
high/abnormally high BP/hypertension (1)

Owner: VQ Assessment Page 9 of 20
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Question
Number

Answer

Mark

12

Award one mark for correctly identifying one risk to
future physical health of obesity and a further one
mark for a linked expansion, up to a maximum of four

marks.

Increased risk of heart disease/heart attack (1)
because his arteries may be clogged with
fat/plaque/cholesterol (1)

Increased risk of stroke (1) because blood clot
may travel to the brain (1)

Increased risk of type 2 diabetes (1) because
increased fat increases insulin resistance/
/circulating blood glucose will be higher (1)
Increased risk of blood clots (1) because his
blood won't circulate as efficiently (1)
Increased risk of cancer (1) because fat cells
can contribute to excess cell growth (1)
Increased risk of arthritis (1) as increased mass
puts extra strain on joints (1)

Development of hypertension/high blood
pressure (1) as excess fat puts pressure on the
kidneys (1)

Future loss of mobility/inability to walk (1) if he
continues to gain weight and becomes severely
obese (1)

Premature death (1) due to organ failure (1)

Expansions may be interchangeable but can only be
awarded once if appropriate.

Accept any other appropriate response.
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Question
Number

Answer

Mark

13

Award one mark for how his diet could increase Jan’s
body mass index and a further one mark for a linked
expansion, up to a maximum of two marks.

Do not accept ‘unhealthy’ as not specific enough.

Expansions may be interchangeable but can only be
awarded once.

Accept any other appropriate response.

He is eating too many calories/portions that are
large (1) so if he is not burning this off he will
gain weight (1)

He is eating a lot of deep-fried food/saturated
fat (1) so his body will store the extra/unused
calories as fat (1)

His food and drink choices are linked to
increased cravings for salty/fatty foods (1) so he
will feel the need to consume even more
increasing his weight gain (1)

He is not following government
recommendations/Eatwell guide/balanced diet
(1) which can lead to over-
nutrition/consumption of more food than is
needed (1)

Alcohol is high in calories but has no nutritional
value (1) so he will take in more calories than
recommended (1)

Alcohol slows your metabolism (1) so his body
will not use the calories as effectively (1)
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Question | Answer Mark
Number
14 Award one mark for the correct response. 1

D - Prefers vegetarian food (1)

A is not correct because that is a circumstance

B is not correct because that is a circumstance

C is not correct because that is a circumstance
Question | Answer Mark
Number
15 Answers will be credited according to the learner’s 6
Synoptic | demonstration of knowledge and understanding of the
question | material, using the indicative content and level

descriptors below. The indicative content that follows is

not prescriptive. Answers may cover some or all of the

indicative content, but learners should be rewarded for

other relevant answers.

Indicative content

e As he has recently been made redundant, he
may use smoking as a coping mechanism/for
stress relief. He might not know how to deal
with his feelings without it.

e Jan has caring responsibilities and may use
smoking to relax. He may not have any other
relaxation methods.

e Jan is experiencing a difficult life event and he
may feel he deserves to smoke. He might be
reluctant to change or happy to accept that
smoking is a part of his life.

e Jan is surrounded by other smokers so he may
lack the support required to quit/he may feel
pressured to continue smoking/may feel that it
is a normal part of life.

¢ Jan may be addicted to or dependent on the
nicotine in cigarettes and therefore find it
difficult to give up.

e Jan may be able to use the support and
encouragement of his husband and mother to
give up smoking, particularly if they all try to
quit together.

e Jan may use this life event as a fresh start,
giving him additional reasons to quit smoking.

Accept any other appropriate responses.
Owner: VQ Assessment Page 12 of 20 Version 1.0
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Level

Mark

Descriptor

Level O

No rewardable content

Level 1

Demonstrates isolated knowledge and understanding,
there will be major gaps or omissions.

Few of the points made will be relevant to the context
in the question.

Limited discussion which contains generic assertions
rather than considering different aspects and the
relationship between them.

Level 2

Demonstrates some accurate knowledge and
understanding, with only minor gaps or omissions.
Some of the points made will be relevant to the context
in the question, but the link will not always be clear.
Displays a partially developed discussion which
considers some different aspects and some
consideration of how they interrelate, but not always in
a sustained way.

Level 3

Demonstrates mostly accurate and thorough/detailed
knowledge and understanding.

Most of the points made will be relevant to the context
in the question, and there will be clear links.

Displays a well-developed and logical discussion which
clearly considers a range of different aspects and
considers how they interrelate, in a sustained way.

Owner: VQ Assessment
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Question Answer Mark
Number
16 (a) Award one mark for correctly identifying a (6)
recommended action that considers Branca’s needs and
circumstances, and one further mark for a linked
expansion of the way the action will improve Branca’s
health and wellbeing, up to a maximum of six marks.
(i) Stating three actions that will improve Branca’s
health and wellbeing.
e To follow the Eatwell Guide/eat a balanced diet
(1)
e See a dietitian/get professional support to
monitor her weight/plan how to lose weight (1)
e To reduce/stop alcohol use (1)
e To get professional support to reduce her
alcohol intake /see an alcohol support
worker/join a support group for alcohol users
(1)
e To increase physical activity in line with
government recommendations (1)
(ii) Ways the actions could improve Branca’s health and
wellbeing.
e To increase her chance of reaching a healthy
weight (1)
e To reduce risk of disease, e.g. type 2 diabetes
(1)
e To reduce the risk of serious harm to health,
e.g. heart attack (1)
e To reduce risk of alcohol related cancers (1)
e To increase cardiovascular fitness (1)
Expansions (ways) may be interchangeable but can
only be awarded once if appropriate.
Accept any other appropriate response that shows a
consideration of Branca's needs and circumstances.
Owner: VQ Assessment Page 14 of 20 Version 1.0
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Number

Question | Answer

Mark

Accept

16 (b) Award one mark for correctly identifying a way
informal support could improve Branca’s health and
wellbeing and one further mark for a linked expansion,
up to a maximum of four marks.

Expansions may be interchangeable but can only be
awarded once if appropriate.

consideration of Branca's needs, wishes and
circumstances.

Give her confidence/reassurance/emotional
support (1) so it is easier to reach targets (1)
Provide motivation /encouragement/enjoyment
(1) so she is more likely to succeed (1)

Give practical support/change health
behaviours with her (1) so she doesn't feel it is
too hard (1)

Go to the gym with her (1) so she feels more
comfortable with it (1)

Go on a diet with her (1) so she doesn't feel
like she is alone (1)

Monitor progress (1) to help keep her on
track/give her the push she needs (1)

Give information/advice (1) so she knows
what/how to change (1)

Don't offer her unhealthy food/alcohol so she is
not tempted (1) which may increase her
chances of not engaging in unhealthy
behaviours (1)

Local community groups may have
diet/cooking classes she can attend (1) to
improve her knowledge (1)

Local community centre may have
exercise/sport classes she can attend (1) to
increase her physical activity levels (1)

any other appropriate response that shows a

Owner: VQ Assessment
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Question | Answer Mark
Number
17 (a) Award one mark for correctly identifying one barrier 4
that may prevent Ajit from improving his health and
wellbeing and one further mark for a linked expansion,
up to a maximum of four marks. The answer must
show a consideration of Ajit's needs, wishes and
circumstances.

e He may find it difficult to travel to the hospital
(1) which could make it difficult to attend
appointments without support (1)

¢ He may not understand how health and social
care services operate in the UK (1) so may not
access everything he is entitled to (1)

¢ He may not be willing to take certain
medications if they contain animal products (1)
which may compromise his ability to get better
(1)

¢ He may have English as an additional language
(1) making it hard for professionals to
understand/help him OR making it hard for him
to understand health information (1)

e Issues with his physical abilities may stop him
being active/exercising (1) delaying his
recovery/worsening his condition (1)

e Religious dietary requirements may reduce
protein/balance in diet (1) which may impact
on his recovery from surgery (1)

e The local NHS Trust may have a long waiting
list (1) meaning that Ajit may not receive care
in a timely manner (1)

Expansions may be interchangeable but can only be
awarded once if appropriate.
Accept any other appropriate response.
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that may prevent Ajit from improving his health and
wellbeing and one further mark for a linked expansion,
up to a maximum of four marks. The answer must
show a consideration of Ajit's needs, wishes and
circumstances.

e Ajit has a full-time job/a lot of responsibility (1)
so taking time off for
appointments/physiotherapy may not be
possible (1)

e Ajit does not have support (1) so he won’t have
anyone to motivate him to improve his health
and wellbeing (1)

e Ajit has no family to help him get to
appointments (1) so he will struggle to attend
appointments using public transport/walking
(1)

e Ajit has multiple life events going on/lack of
time (1) so he may avoid making
improvements to his health and wellbeing /he
may develop high blood pressure/his mental
health could become a problem (1)

¢ He may feel stigmatised/discriminated against
(1) may be reluctant to ask for help (1)

e His physiotherapy has been scheduled during
working hours (1) so he may give up/miss his
appointments (1)

Expansions may be interchangeable but can only be
awarded once if appropriate.
Effects/expansions may be interchangeable

Accept any other appropriate response.

BTEC Mark Scheme 2406
Question | Answer Mark
Number
17 (b) Award one mark for correctly identifying one obstacle | 4
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Question Answer Mark
Number
18 Answers will be credited according to the learner’s 6
Synoptic demonstration of knowledge and understanding of the
question material, using the indicative content and level
descriptors below. The indicative content that follows is
not prescriptive. Answers may cover some or all of the
indicative content, but learners should be rewarded for
other relevant answers.
Indicative content
e Lissy and Jerome are sexually mature, which
means they can reproduce - they are now
becoming parents
e Lissy is at peak fertility in this life stage as
evidenced by becoming pregnant
e Lissy has a chronic condition and may
experience pain during sickle cell crises
e Lissy’s condition may be well managed as she
has regular treatment from secondary care
services, so the impact on her physical
development could be limited
e Lissy will experience changes to her body due to
pregnancy, for example her periods will stop,
she will gain weight and there will be pressure
on her organs. She might experience nausea
and changes to skin and hair
e Lissy will go through pain during labour/birth
e Lissy may not know how her body will respond
to pregnancy due to her medical condition so
she might need more specialist treatment/
Lissy’s sickle cell disease will make her
pregnancy more high-risk
e Lissy should be at peak physical fitness in this
life stage but this might be compromised her
medical condition as she may not have
developed in the same way as peers without
sickle cell disease
e Lissy should have peak strength and stamina
but this could be compromised by her condition
as it causes shortness of breath and fatigue
e Becoming parents is physically demanding and
very tiring
e Informal support from Jerome may reduce the
physical burden on Lissy
Owner: VQ Assessment Page 18 of 20 Version 1.0
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Level Mark | Descriptor
Level0 | O No rewardable content

e Demonstrates isolated knowledge and understanding,
there will be major gaps or omissions.

e Few of the points made will be relevant to the context

Level 1 1-2 in the question.

e Limited discussion which contains generic assertions
rather than considering different aspects and the
relationship between them.

¢ Demonstrates some accurate knowledge and
understanding, with only minor gaps or omissions.

¢ Some of the points made will be relevant to the context

L in the question, but the link will not always be clear.
evel2 |3-4 ) ! . ) X

e Displays a partially developed discussion which
considers some different aspects and some
consideration of how they interrelate, but not always in
a sustained way.

¢ Demonstrates mostly accurate and thorough/detailed
knowledge and understanding.

e Most of the points made will be relevant to the context

Level 3 5-6 in the question, and there will be clear links.

e Displays a well-developed and logical discussion which
clearly considers a range of different aspects and
considers how they interrelate, in a sustained way.
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Grade Boundaries

What is a grade boundary?

A grade boundary is where we set the level of achievement required to obtain
a certain grade for each component in the qualification. We set grade
boundaries for each grade, at Distinction, Merit and Pass.

Setting grade boundaries

When we set grade boundaries, we look at the performance of every learner
who took the assessment. When we can see the full picture of performance,
our experts are then able to decide where best to place the grade boundaries
- this means that they decide what the lowest possible mark is for a particular
grade.

We review grade boundaries each time a new exam or assessment is
completed through a process called awarding. The grade boundaries indicate
the minimum number of raw marks learners need to achieve to get a
particular grade.

When our experts set the grade boundaries, they make sure that learners
receive grades which reflect their ability. Awarding grade boundaries is
conducted to ensure learners achieve the grade they deserve to achieve,
irrespective of variation in the assessment.

Grade boundaries for this, and all other papers, are available on our website
via this link
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Introduction

This was the second external assessment series for the revised BTEC Tech
Award which was available for first teaching from September 2022. There is one
externally assessed Component - Component 3 Health and Wellbeing. The
external assessment process was judged to be straightforward.

The content of the revised Component 3 specification remains broadly like that
of the legacy BTEC Tech Award. Notable differences are increased clarity on
factors affecting health and wellbeing, a reduced number of physiological
indicators, an extension of content on the person-centred approach, and
increased clarity on barriers and obstacles to health improvement.

The question paper for the revised Component 3 is somewhat different. When
compared to the legacy Tech Award:

e This paper uses a wider variety of item types, e.g. multiple-choice
questions (MCQ), multiple-response questions (MRQ), short open
response questions (SOR) and extended open response questions (EOR).
As well as novel methods such as tables to complete.

e This paper uses lower-demand command words such as give, state,
identify, which are offered in sequence prior to the commencement of
higher demand SOR explain and EOR discuss.

e Fewer items are contextualised and where context is provided, it is
shorter in length and applies to fewer items.

e EOR discuss items are targeted across grades and draw on knowledge
acquired by learners throughout Components 1 and 2.

In Component 3 learners explore the factors that affect health and wellbeing,
learning about physiological and lifestyle indicators, and person-centred
approaches to make recommendations to improve an individual’s health and
wellbeing. The Component 3 paper uses questions to draw out learner
knowledge, understanding, application and ability to make connections
between aspects of health and wellbeing.

The question paper followed the format identified in the sample assessment
materials, which can be reviewed here. The paper was split into 18 questions
and the total number of marks available was 60.

The paper began with several accessible lead-in questions and generally
ramped in demand through the paper. The first 11 questions were not
contextualised. The first 10 questions required learners to demonstrate
knowledge and understanding and apply knowledge and understanding, of the
factors and life events that affect health and wellbeing.


ttps://qualifications.pearson.com/en/qualifications/btec-tech-awards/health-and-social-care-2022.coursematerials.html#filterQuery=Pearson-UK:Category%2FSpecification-and-sample-assessments

The second half of the paper contains contextual case study information, to
support learner answers. Contextual information is kept concise and to the
point. Questions 11 to 13 required learners to demonstrate knowledge,
understanding and application of physiological and lifestyle indicators. From
Question 14 onwards, to some extent the principles of the person-centred
approach should underpin all learner responses. Specifically, Question 15 is the
first discuss EOR, which provides the opportunity for learners to demonstrate
the extent of their learning and ability to make connections between concepts,
as they consider how a variety of circumstances can restrict or facilitate an
individual's ability to improve their health and wellbeing. This question is
assessed using a levels-based marking grid. Questions 16a and 16b require
learners to demonstrate knowledge, understanding and application of possible
recommendations to improve health and wellbeing and how individuals can be
supported to do this. Questions 17a and 17b require learners to demonstrate
knowledge, understanding and application of barriers and obstacles which may
present challenges to individuals wishing to improve their health and wellbeing.
Finally, Question 18 is the second discuss EOR, which provides the opportunity
for learners to demonstrate the extent of their learning and ability to make
connections between concepts, as they consider how a variety of
circumstances can influence a specified area of growth and development of an
individual at a given life stage. This question is assessed using a levels-based
marking grid.



Introduction to the overall performance of the
component

The question paper facilitated a full range of learner outcomes across the grade
profile.

Learners at the Distinction level used a wide range of skills, techniques and
processes effectively within their scripts. They demonstrated comprehensive
knowledge, understanding and application of information and concepts related
to health and wellbeing. These learners showed a good level of analysis and
evaluation of issues and scenarios, considering a mostly relevant and balanced
range of factors when discussing the circumstances of provided case study
individuals.

Learners at the Pass level used some appropriate skills and techniques some
of the time. They were able to demonstrate appropriate and accurate
knowledge, particularly with reference to factors and life events affecting
health and wellbeing. These learners had less comprehensive knowledge and
less developed skills in articulating explanations related to the effects of
physiological and lifestyle indicators on health and wellbeing, and the role of
healthcare professionals in supporting individuals to make health
improvements. These learners showed inconsistent analysis and evaluation
when responding to the discuss EORs and tended to provide descriptive and
one-sided answers.

Learners at the Level 1 Pass level showed basic knowledge across the paper,
although explanations and application were lacking.

Overall, learner responses to this paper were strong and reflect the increased
accessibility of the revised question paper.

This report has been written to help you understand how learners have
performed overall. There is a brief analysis of learner responses and examples
of learner responses for each question. These should help to provide additional
guidance for future assessment opportunities. This Principal Examiner’s Report
should be considered in conjunction with the live assessment material
(question paper) and the corresponding mark scheme.



Individual Questions
Question 1

Overall, this question was well answered.

Learners should be reminded to follow the instructions provided on marking
the check boxes and what to do if they change their answer.

In this example, 1 mark was awarded for correctly identifying the answer:

1 Identify one environmental factor that can affect health and wellbeing.

Gender expectations
Exposure to pollution

Inherited conditions

B 0 ® O
O N @ >

Relationship changes

Question 2

Overall, this question was well answered, and a wide range of appropriate
responses were seen.

Learners would benefit from responding in a way appropriate to the demands
of the command word ‘state’ which does not require elaboration or
explanation. Asmall number of learners were unable to provide two sufficiently
different answers, limiting them to one mark. Some learners provided vague
answers, for example ‘healthy’ is not considered sufficiently specific.

This example typifies many learner responses and was awarded 2 marks:

2 State two positive effects that a balanced diet can have on health and wellbeing.

1ucwcmm%mw-
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This example typifies those learner responses that were vague and was
awarded 0 marks:

2 State two positive effects that a balanced diet can have on health and wellbeing.
1 MOy Aty /e aking DroBRc 1y Nt ons o
W\r\v Lif%
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Question 3

Overall, this question was well answered, and a wide range of appropriate
responses were seen.

Some learners were confused about what constitutes a lifestyle factor, stating
answers related to job or relationship status or housing conditions. Learners
should be reminded that the factors are clearly categorised in the specification.
Some learners gave ‘diet’ as a response, either not understanding that
diet/nutrition are interchangeable or not reading the question carefully.

This example typifies many learner responses and was awarded 1 mark:

3 State one lifestyle factor, other than nutrition, that can affect health and wellbeing.
ONCONON NANONE e
This example shows a typical misconception seen and could not be awarded

marks:

3 State one lifestyle factor, other than nutrition, that can affect health and wellbeing.



Question 4

Overall, this question was less well answered than expected. Some learners
were unable to identify two cultural factors accurately or confused cultural
factors with social factors. Learners should be reminded that the factors are
clearly categorised in the specification.

This example was awarded 2 marks for correctly identifying two cultural
factors:

4 |dentify two cultural factors that can affect health and wellbeing.
B A Sexual orientation

Physical abilities

Supportive relationships

Gender identity

B B B8 B8
m o N ®

Employment situation

This response typifies the confusion between cultural and social factors and was
awarded 1 mark. Although the learner has originally chosen the correct two
options, this response shows best practice when changing an answer in
response to MCQ or MRQ items (single horizontal line through the incorrectly
selected box):
4 |dentify two cultural factors that can affect health and wellbeing.

¥ A Sexual orientation

B3 B Physical abilities

B{ C Supportive relationships

-~ D Gender identity

E3 E Employment situation
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Question 5
Many learners provided thoughtful and well explained answers to this question.

The strongest responses clearly articulated an effect, with a logical linked
expansion that explained why that effect was caused by unsafe housing. Those
that did not achieve full marks, generally did so because their response lacked
explanation. Some learners did not understand the focus of the question and
did not receive marks,

This example was awarded 2 marks and is typical of responses seen:

5 Explain one negative effect of unsafe housing on an individual’s health
and wellbeing.

e DO0SE COMGL NOVE 000 Wi 15000 For o oeaons ealkn of
v s eed@ad vadvo SO0

This example was awarded 1 mark, as it lacks explanation:

5 Explain one negative effect of unsafe housing on an individual’s health
and wellbeing.

................................ e BEV o R e S =V P e ~

This example was not awarded marks as the response does not focus on the
demands of the question:

5 Explain one negative effect of unsafe housing on an individual’s health
and wellbeing.

one. negakive. errett on. LNSAFe housung 1S Ene. .
pempdee \0CARI0N . This wouid agece Qo
InAV IAUALS. et dind. WenoeuAg loy. NGt avung. ..
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Question 6

Many learners provided thoughtful and well explained answers to this question.

Some very good answers were seen, with an excellent knowledge and
understanding demonstrated of the positive effects of community participation.
However, some learners struggled to identify two sufficiently different effects,
or two sufficiently different explanations of those effects.

This example was awarded 4 marks and is typical of the stronger responses
seen, as well as being clearly and concisely written:

6 Explain two positive effects that community participation can have on health
and wellbeing.

1. Fee\ o gense of pexonung as you ase.
,,,,,, COCNCARATING,. OS> O ASIIN

This example was awarded also awarded 4 marks; however, learners should be
reminded that repeating the question at the beginning of their response uses
up time and space on the paper and is not required:
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6 Explain two positive effects that community participation can have on health
and wellbeing.

1.0Ne.. SoB Y ve.. L Eeck. AHNax. COMMMLN Y- PALLICAPONONO. Can. YN, O ...
.he.mm....g..m...,w.e.xs.m.mS LB AN InAdvidual L0 feer mace. nn et
,m.,.xne.x.x:..‘.“‘,Qo.mm.s;‘mxg..‘.,gs.".kmgb‘...m.e..".,km.msmn.‘”‘.M\xm.m...m‘\9‘,\.3,\,5.,,953:,
2 _HNOFrNe. Peswive. etfeck Aok 2Ammuniiky . PACKIILarOMn.. Con. Have. An. Q.
Iocividuoy A4S ANE ANV BUON . Laou o). SO6I01SR. Nere ) fORe s YD

*Om%%\b\\\b LOb . R eeed .. NS CONNRLESANS .. mma ok
hougn commun LT Pard KASoNa . e

This response was awarded 2 marks and is typical of responses seen where valid
effects were provided but no linked explanation provided:

6 Explain two positive effects that community participation can have on health
and wellbeing.

Question 7

Overall, this question was well answered, and a wide range of appropriate
responses were seen.

Where a mark was not awarded, this was usually where learners had failed to
read the question properly and gave an effect on an area of growth and
development other than emotional. Some learners provided effects on social
wellbeing rather than emotional. Historically, confusion between emotional and
social effects can be an issue.

13



These two examples were awarded 1 mark (the maximum available) and are
typical of responses seen:

7 Give one negative effect that redundancy can have on the emotional health of
an individual.

= F&e\«,\ﬂ Wlse 5@.\)( WOTINesS.

Note that in this example, the response did not require the expansion about
bills to be awardable, as the command word is give:

7 Give one negative effect that redundancy can have on the emotional health of
an individual.

Peet aminety  for Wil ol

Question 8

Overall, this question was well answered, and a wide range of responses were
seen, covering the full spectrum of effects on physical, intellectual, emotional
and social health and wellbeing.

Those learners that struggled to achieve full marks, often did so either because
their responses were repetitive or because their second response was adrift
from the focus of the question. Some learners could accurately identify effects
but were less well prepared to articulate explanations.

These two examples were awarded 4 marks and are typical of the stronger
responses seen:

8 Explain two positive effects that inheriting a large sum of money could have on an
individual’s health and wellbeing.

1you Couid geel Socioy y ancluded \secause
O howue monen Lo . 90. ouk. ono..0o..

mas Yaod. ljoU never used. to...be.. ouo\..e .....
_ta O

2. \{CJM Moy %ca\ {e(owed becOMSQ Ldou oxe
Pmac«a((ﬁ StablC. .
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Learners should be reminded that repeating the question at the beginning of
their response uses up time and space on the paper and is not required:

8 Explain two positive effects that inheriting a large sum of money could have on an
individual’s health and wellbeing.

oI r\Y\Q“\‘f) ............... O \Q‘Cgﬁ ........ qmo«*@f _______ yonew

........... WAQM . COYR Qv PRESON XD (CQ\ B
N:}( 2 el finacadl\a b and

N \c\(ae_ SUMN. . OF MW\Q@ .
..Q\%MO‘O\L Yo. C\Ffof d...neceedar \\j ﬂ\»f\@)
ohen A VY otev OO\ nawe - oy example
leds 3 r 0~\\€\V\'I\C3 of W™Walthcare™ (Total for Question 8 = 4 marks)

This example is typical of the way that a small number of learners can identify
one or two effects but do not have the skills to formulate a linked expansion
which is specific and uses good terminology. This response was awarded 1 mark:

8 Explain two positive effects that inheriting a large sum of money could have on an
individual’s health and wellbeing.

LTI O Stalk Jesking. e kel them Self
hetier

LAY m(‘PJM
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Question 9

This question was well answered overall, with learners providing straightforward
responses.

Those responses that did not receive marks, oftentimes provided positive effects
rather than negative, or focussed on social effects, rather than emotional as
demanded. As remarked upon in Question 7, confusion between emotional and
social effects can be an issue.

These two examples are typical of the responses seen that were awarded the full 1
mark:

9 State one negative emotional effect of parenthood on an individual.

Lo ocesolr o sk = 00kad depression .

It should be noted that in this response the explanation of why is not required and
simply stating ‘stress’ would be sufficient for the mark, as the command word is
state:

9 State one negative emotional effect of parenthood on an individual.
THTY.CONA 0E. A SOGE. MuUm NS, MEansS. ey
coma. we  doung ald the ialock. on e own

a \N\/\(ﬁ U\XL\ Beed \ead © S\‘(‘QSSnotal for Question 9 = 1 mark)

This example typifies the confusion between emotional and social effects and was
not awarded marks:

9 State one negative emotional effect of parenthood on an individual.

Sel\g - ;SO\QL;or\ * nefenlies

Question 10

Responses to this question were mixed.

Some very good answers were seen, with an excellent understanding
demonstrated of the effects of exclusion from school on social wellbeing.
However, many learners, whilst able to identify effects accurately, lacked clarity
of meaning when attempting to explain why or how these effects arise. Other
issues included learners struggling to identify two sufficiently different effects,
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or two sufficiently different explanations of those effects. In some cases,
learners were unable to provide two responses that remained focused on the
demands of the question and gave responses linked to emotional wellbeing or
intellectual development.

This example was given 4 marks and is representative of the strong responses
seen:

10 Explain two effects that being excluded from school could have on the social
wellbeing of an individual.

18Ty (Boloked . Sance . tney iUl Skruggle SO
..... malntain.... griendshigs. .. PRCONSE . Haty. QT N6k .
$ecing. . Xnee . €NoVGhT g them depcessCon
anelar\)(\ﬁhé s ‘
2 ....‘S.Q..C..QQ,.&L.Sj.........A.,,ﬁ‘..&uc.L.Q.CL(A.,“,A.....bﬁ.(.‘.c..sé\,s,c.‘.‘.,. toey can.. oSS
con..appurkonittes. K0 nnake | eiends...and.
ASn S.z.maKeng.. Matm.. eXCRACd. gooon............

80N carenks;mallng. Yhtir mentol . heoaltn wose
gonce they MIGht MOt e wie Wi question 10 = 4 marks)

This example was given 2 marks for a good explanation of one effect:

10 Explain two effects that being excluded from school could have on the social
wellbeing of an individual.
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Question 11

This question was well answered overall, although some learners had clearly
not learned the ranges and classifications for blood pressure. Others showed
confusion between heart rate and blood pressure.

The following examples show acceptable responses for 1 mark:

11 State the correct classification for a blood pressure of 150/98mmHg.

11 State the correct classification for a blood pressure of 150/98mmHg.

i YRMEL .. hA ..............................................................................

The following examples show responses that could not be credited, which
show a range of misunderstandings:

11 State the correct classiﬂcatlon for a blood pressure of 150/98mmHg.

18



11 State the correct classification for a blood pressure of 150/98mmHg.

11 State the correct classification for a blood pressure of 150/98mmHag.

11 State the correct classification for a blood pressure of 150/98mmHg.

A/Orma,(/,Zz .......... %7 .............................................................................................................

\

Question 12

Overall, this question was reasonably well answered although there is an
evident gap in learner knowledge related to the risks to future physical health
of obesity together with a genuine understanding of why these risks arise.

Some learners were able to accurately identify two risks to future physical
health, however many talked about impacts on current physical health or
another area of health and wellbeing e.g. emotional, which could not be
credited. Those learners that were accurate in their identification oftentimes
struggled to explain why the identified risk would occur.

This response is typical of those where 4 marks were awarded:

12 Explain two ways that obesity could be a risk to Jan's future physical health.

1...00C. ey Obestby... Qulet... boe..... ... sk, k.. b Could.. CowsC... ON...........

dexelop... Tupe.. 2 .. iabchkes s s ... wlewt. . Rsulin_no.. _.b.mj.éf.”,.‘,uspox\c‘&,,)_._.._ _
propeaky.. .. M. \mcljwonmgsugm ........... Lwds....._.&wldu_.,.4.spike..”mnd _______________________

Mot e Comthese. s O R
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In this example the response was awarded 3 marks, as the explanation of the
risk of stroke is confused and inaccurate:

12 Explain two ways that obesity could be a risk to Jan's future physical health.
1,003ty POIs T ON A (A% K. 0fType 2 drdoedes

VeCOule S0eN eV

*w iim f0 O\Q Wtwf\ ﬂm/l(m \/H’VLQ %tum
TJons Alsg (Hmb(o{

In this example the response was awarded 1 mark for identifying ‘diabetes’ as
a future risk to physical health. There is no explanation of why this risk arises
and no second risk given nor explained for any further marks:

12 Explain two ways t mity could be a risk to Jan's future physical health.

He  Co et Aialeres boecause
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In this example the response was not credited with any marks, as they have
misunderstood the demands of the question. A small but notable number of
responses made similar errors, providing responses linked to how to improve
health and wellbeing:

12 Explain two ways that obesity could be a risk to Jan's future physical health.
1O%e woudd uwe j Q...for... QR s ey
‘b‘ AL C&ad B

2016%@ would _hase_fo_ 90 _on a heellyy.

Question 13

Overall, this question was not well answered and reflects the knowledge gaps
identified for Question 12.

Some learners were able to accurately explain how the diet of the individual
outlined in the context could lead to increased body mass index (BMI).
However, many learners could not provide an adequate or clear explanation,
or instead, drifted from the demands of the question and recommended
additional ways to reduce BMI, such as lifestyle changes, or talked about the
nutritional deficiencies of the individual's diet.

The following three examples show clear knowledge and understanding, and
were awarded 2 marks:

13 Explain how Jan’s diet could cause an increase in his body mass index (BMI).

< J'on'S.. \oody malS. Guld cCRosR. \0RABAR (A LS.
g A (¢ b faod i laoal o @onel amd. @C108..omd.....
M oadiy (8 Sroni/g all o (o AL (SN uSing, (. caud ing taam.

he aann meaghY .
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13 Explain how Jan’s diet could cause an increase in his body mass index (BMI).

vl oo lwge.m..,_..meo‘xs ............... feguiafly.... NEODS .
...... thak . Jon. .. 9. furting ..O0.. 0. .catoryes. .

bhao. he. can boco..ofe 0. s SN
..... WM. L0Cease. . As. e Qouns.... MOSIQNE .

13 Explain how Jan’s diet could cause an increase in his body mass index (BMI).
A bew o = Nigh .
NY S e\ alene). (A U\/\ e Nk
geaect. Diaka N9 PNE Kk Lens

QA Lu\\ AL eve (eamnt L Oa@A\ °t>
CNT et (e - (Total for Question 13 = 2 marks)

This example was awarded 1 mark as it lacks explanation~:

13 Explain how Jan's diet could cause an increase in his body mass index (BMI).

Boor and luge. meaks. rﬁguimtg e UGt
_of colonés. . oauwled % s BMI

This example shows a response not focused on the demands of the question,
and was not awarded any marks:

13 Explain how Jan’s diet could cause an increase in his body mass index (BMI).

SEE j&k avnd . cwips eegulaniy il
\c\\d._ V\QBQG\M ufod QS MM
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Question 14

Overall, this question was well answered. Where learners did not receive the
mark, it was largely due to incorrect selection of option B. A notable number of
learners appear to struggle with differentiating between needs, wishes and
circumstances, which are clearly identified in the specification.

In this example, 1 mark was awarded for correctly identifying the answer:

14 |dentify one wish that an individual may have that the person-centred approach
should consider.

£ A Having a lack of support

£J B Being addicted to substances
Bl € The age of the person
4

D Prefers vegetarian food

Question 15

It was pleasing to see that most learners attempted to answer this question, and
for those that did provide a response, awarding of 0 marks was rare.

Most learners provided some accurate and relevant knowledge and provided a
partially developed discussion, often focussing purely on negative factors
around Jan’s circumstances. These responses were in line with the descriptors
for level 2 on the marking grid. Those that found this question challenging,
provided descriptive sentences that relied heavily on the context, rather than
showing any real understanding or application to the context. The strongest
learners provided responses that were logical and well considered, achieving
balance in the response through consideration of a full range of circumstances
and factors. It should be noted that full marks answers can be achieved in the
answer space provided on the question paper.
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The following two examples were both awarded 6 marks for a logical discussion
considering a range of aspects and demonstrating secure knowledge:
15 Discuss how Jan's circumstances could affect his ability to give up smoking. Q15

OnXe. o hag o) unad him Yo s

e ony howe 1o prnvade Yor heonsel) ond W munm. Sua b Gy 'nam‘&% ......
o 08 W copuirg, Meduinm fo dlne b b be straat relord

nsed, Soince )m..mb ............... w e cond X ba NeOy...
’(«bmw Whah e thad b A\lugw o kg t?,S.-.téP

9% a;ﬁ,@y :ﬁm\a e hm.b vl 1s-omm@v
*WM s Tdlootd Con aine hirn el Suppert, Whah

B 3 dhionak sugperk b Y e
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15 Discuss how Jan's circumstances could affect his ability to give up smoking.

AN . SEarsed SMOoKING WNZA Ne wWAS .Gl
reenager. whnicn. . means. nis. addiceion. nas..
[rown. iNnereasingly. . Encougnout. tné ...

MESTINEZ . However, Joa. LiVEsS. niS. . nusband...

WNno. . .can. hewp. . and  SuPPorc. .. .him. .. +nco ugn...
: coutld do

NS . _J0rNEedy. . . to. . stop. . smokinsgsf as ne the
O NG R Qﬁmz

AlcernotiNg (7 Jan.chRs. o take. . Core. . OF
7 W S &Ld&fl\jMOth&fwhAChCOnbz
Stra.ssful...and demand ngand B o'\ o W

MaKe.. N . wan.t.. .o SMmoKEe. 0. Y\ CM&......

TJan. . nas. peen.. . made. redundoank. whniCh...

e moy e Finding (Total for Question 15 = 6 marks)
seressful, aLtrnough, becomin
redundante LOWEersS ‘McomMme wWwWie n mMeons
Evarc TJTaon Moy be uvnabLe to Afford
C'Jarcteces and ENac can reduce

S ‘NneEokKe:
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This example was awarded 2 marks as it presents isolated knowledge and a
limited discussion:

15 Discuss how Jan's circumstances could affect his ablltty to give up smoking. 7L/

.......... <p JOn 1S CONSHon

Question 16a (i) and (ii)

This question required learners to complete a table and overall, it was
moderately well answered.

The best answers showed a strong link between the (relevant) actions stated
(16ai) and the ways given (16aii) that each action would specifically improve
Branca’s health and wellbeing. To be awardable, each ‘action’ must be different
and each ‘way’ must also be sufficiently different - many learners repeat ways.
Some learners provided vague statements in 16ai that were neither an action
nor suitable for this context. A notable number of learners are using 16aii to
expand or elaborate the action, which does not answer the question and is
therefore not awardable, A small number of learners did not understand the
demands of the question and provided responses that were completely
irrelevant.
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This example was awarded full marks (3 + 3):

Three actions Ways the actions could improve Branca’s health
and wellbeing
L € L\ GfFect her Ph:jS:ca\ et Og
\ (s\la\ glel .
dinK \ess\ She will be less Hmv to get lccrol
Oh\\d W unils Q)t‘SoninD OF Wwer diStses Lunmicna

Wil (vove her yove G posib'ue (00K

on ure

eat A healipe:r

Wil irmpigue ner weigne cnck el

bec £Q (ee\ bhetter Gwout Werse\F

Ond  polonced ik (PositiLe SeIF eSteem) Ondl st SBe
Sre Will hae lowy SREES op

diQweres

! 18 Mroe \'N\dsico\ exeicr le
Gt work WKC eaikin
Ywren e gets o
‘)'ew

Sne Loill \00Se weisnc oncd Stare
LO et o exercize MOfE dut o
\b MQ*“"CJ ner feel Qood awouk ersell.
Q1SS lgwers Chnonces OF 1er ltominy

ObCS(’. Oond ('QO\“S Unh@&lt\ﬂb
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This example was awarded 2 marks for two valid actions in 16ai only, as the
‘ways’ were imply expansions of the actions:

Three actions

Ways the actions could improve Branca's health
and wellbeing

" | Stare (30\}\9{0 e

Iom

She coud srart go' to
e %M with g f}:"gd ol

¢ family emper

hﬂ\l\}\a 01,

Ocanol

(uttung down  €Ener
ood mowe to OF.
G conGl

o

W \'Job

New job that (ovld

Qe hev mo

Question 16b

Responses to this question were mixed.

The strongest responses knew of two ways that informal support is given and
could explain exactly how each way could improve health and wellbeing. Many
learners however, talked about how actions to improve health and wellbeing,
rather than the way that different types of informal support are given and how

this support leads to improvements in health and wellbeing.
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This example was given 4 marks:

(b) Explain two ways informal support could improve the health and wellbeirtl% and Pl
(> encorwoepe  hax ad Heipehy - Ls i e
of Branca. s mid W“b\o ""M""‘ﬁ 94.,-1 heatindy food. )

D Rremca’s  Noustmakes owve o b of intymed  supperk

o b covsthuut Wit ey
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will

e S TN been A CVpyove Wy BUE esbam ondh
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This response was awarded 2 marks and is typical of lower scoring responses,
where learners struggled to articulate linked expansions to their points and/or
repeated/reworded the same point more than once:

10NE WOU) mgmma\ Supeert conid. . nelp.. . Rranca. 1S
thew..could.. encouraqe. her 10,940 . £o.xne CQm.mum'tkﬁ
CENEre-TNeW. CaMIA. QLS. QR LEN.. NEX.. QL sueport..This

MO\j NEIR. Lo . reduce. ner. . QlconQl..NtaKke.:

N

2 ANQLNEX WQ\.j LH.QOXMA Suppeert. couwd. nhelp. . Brancd
i £O
IS b% her 3omw\3 coM g enCOurQ%e NEY.L£O Qe e tne

QUM TNEHA . MNAW. SubeQtt. her.and. attend. wikh. her

She may.be. encouraged. £0.Cnange. goc. her gaMILY. :

Question 17a

Responses to this question were mixed.

The strongest responses showed a clear identification of two barriers that
would make it difficult for Ajit to improve his health and wellbeing. These were
explained succinctly and without repetition of the case study - they showed
understanding of the context. However, some learners struggled to both
ascertain barriers to accessing services, treatment or support and then explain
how they would prevent Ajit from improving his health and wellbeing. Some
learners provided vague responses, lacking focus on the demands of the
question.
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These two responses were given 4 marks:

17 (a) Explain two barriers that could prevent Ajit from improving his health
and wellbeing.

(4)

1 Lc&n&ms e.. \Dawwe)v could . ~Stop.... AA‘*’ wonder -
\S

Smnd\n3 VR T o1 < wvovx.i ov. ... what m\
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This example was given 2 marks for identifying two barriers, but explanation is
absent:

17 (a) Explain two barriers that could prevent Ajit from improving his health

and wellbeing.
(4)

1By reduce i f\ P}\jj.'ml mob.l.'f] S
o oacrier. . Yoecause. . bhe . il §ércﬁ3(f: y10)
Qtt ko the \nosfn“i(

» The  (HS  hawe FCFC(‘\Q;\ staff... Shorlages
MCan;ﬂj his Qppc;nimcnh" CCMICI be 32(?;@4

Question 17b

Responses to this question were mixed.

The strongest responses showed a clear identification of two obstacles that
would make it difficult for Ajit to improve his health and wellbeing. These were
explained succinctly and without repetition of the case study - they showed
understanding of the context. However, some learners struggled to both
ascertain obstacles Ajit might encounter personally and then explain how they
would prevent Ajit from improving his health and wellbeing. Some learners
provided vague responses, lacking focus on the demands of the question.

32



These two responses were given 4 marks:

(b) Explain two obstacles that could prevent Ajit from improving his health
and wellbeing.

(4)
Ctbash . IAS ()L.');, ceh.nqo) NPV V. ] YOV SV PN . S —

} PACLAS.. R onk bgmsvm_s .drgeriangnl, Gl g *

2. &S50 o N MM B N O B UL E . S

Come A QG ﬂmlkrm‘7='mm)

AS  Concd'Flun Mo-s Sqenre WOrSC e

(b) Explain two obstacles that could prevent Ajit from improving his health
and wellbeing.

(4)
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This example was given 1 mark for identifying one obstacle, but explanation is
absent:

(b) Explain two obstacles that could prevent Ajit from improving his health
and wellbeing.

]T/'/Vb@ Chstaele. - A3+ (’1@5 ‘}O o i [CJ
hews ang musz ole g StCJhﬁfq
Loam on m{m&(@/ 5 A wemsm

Question 18

It was pleasing to see that most learners attempted to answer this final discuss
question, showing that timing is not a problem for most learners on this paper.

Some learners provided accurate and relevant knowledge drawn from across
all three components and provided a partially developed discussion. However,
many learners were distracted by the sickle cell disease element of the context
and did not bring in their foundational knowledge of physical development in
early adulthood as learnt in Component 1.

Learners often relied heavily on the contextual information and focussed
purely on negative factors around Lissy’s circumstances. These responses were
in line with the descriptors for level 2 on the marking grid.

The strongest learners provided responses that were logical and well

considered, achieving balance in the response through consideration of a full
range of circumstances and factors.
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These two responses were awarded 5 marks:

18 Discuss how Lissy’s circumstances may affect her physical development in
early adulthood.
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18 Discuss how Lissy’s circumstances may affect her physical development in

early adulthood.
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(Total for Question 18 = 6 marks)

This example was awarded 3 marks and is typical of many responses seen:

18 Discuss how Lissy’s circumstances r;\ay affect her physical development in
early adulthood.
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Summary

Based on performance on this paper, learners should:

e Develop secure knowledge of the different categories of factors and
examples within them as provided in the specification.

e Be clear on the differences between effects on social wellbeing and effects
on emotional wellbeing.

e Develop a secure knowledge of the classification and interpretation of
physiological indicators as provided in the specification.

e Work on their skills of explaining factors and their effects, physiological and
lifestyle indicators and their effects, and ways that formal and informal
support improves health and wellbeing.

e Be prepared to write about both negative and positive effects on health.
e Beclear on what constitutes a current impact on physical health, versus a

potential long-term risk to physical health, and be prepared to explain how
or why these arise.

e Develop knowledge of the difference between a need, wish and
circumstance.

e Develop knowledge of specific and relevant actions that improve health and
wellbeing.

e Be clear on what constitutes a barrier and what constitutes an obstacle, and
work on their skills to explain how these might prevent someone from
improving their health and wellbeing.

e Be prepared to provide logical and well-developed discussions that consider
a range of different aspects and how they interrelate, drawing on
knowledge developed across all three components.

e Familiarise themselves with the meaning and requirement of each
command word. A glossary is included in the specification.

e Read exam questions carefully to ensure the responses they provide match
the demands of the question and any provided context.

e Bereminded that marks are not awarded for repetition of the question and
doing this uses up time and space on the question paper.

e Use appropriate and vocationally specific language, as provided in the
specification.

e Write in the space provided; extended responses do not attract more
marks, unless they provide expansion as described in the examples above.

e Utilise the sample assessment materials for assessment practice, which can
be found here.
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